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Read the paragraph and answer the following questions (11-15):
The Stone Age was a period of history which began in
approximately 2 million B.C. and lasted until 3000 B.C.
Its name was derived from the stone tools and weapons
that modern scientists found. This period was divided
into the Paleolithic, Mesolithic and Neolithic ages.
During the first period (2 million to 8000 B.C) the first
hatchet and use of fire for heating and cooking were
developed. As a result of the Ice, Age, which evolved
about 1 million years into the Paleolithic age people
were forced to seek shelter in caves, wear clothing, and
develop new tools. During the Mesolithic age (8000 to
6000 B.C), people made crude pottery and the first fish
hooks, took dogs hunting and developed the bow and
arrow, which were used until the fourteenth century
A.D. The Neolithic age (6000 to 3000 B.C.) saw
humankind domesticating sheep’s, goats and pigs, being
less nomadic than in previous eras, establishing
permanent settlements, and creating governments.
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[E] The paragraph is concerned with-

A. Neolithic Age B. Paleolithic Age

C. Stonc Agec D. Ice Age

U0 : Passage 9% (UWF M 18 Stone Age 97 JTHE
R G [y erter fion Refre wiem 9 zomg | o
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Ans : C,
[F1 The Stone Age was divided into periods.
A. 2 B.3 C.4 D.5

Tt : Stone age divided into-

1) Paleolithic ii) Mesolithic iii) Neolithic

Ans : B.

Which of the following was developed earliest?
A. Fish hook B. Hatchet

C. Bow and arrow D. Pottery

It : 84 sentence @ F= WCR- During the first period
the first hatchet and use of fine for heating and
cooking were developed.

Ans : B.
Which of the following developments is not
related to Ice Age?

A. Farming B. Clothing
C. Living indoor D. Using Fire

[T : ¢ senlence 9 =1 Wite- As a result the Ice age,

which evolved about one million....... develop new tools.

9 (A 33 % Farming Ice Age @3 3d related f=em1 |

Ans : A, ’

In line 14, ‘nomadic’ is closest in meaning to-

A. Sedentary B. Wandering
C. Primitive D. Inquisite
PRI : Nomadic - I9194
Wandering - U394, S

Synonym : Wandering, Errant, Ambulant
Ans : B.

Find the appropriate idiom/phrase for the following
sentences (16-17)

|[[@ My neighbour asked me to ____ their children
after school.
A. brake off B. ask for

' C. care for D. strike work

It : @ Care for - N/ T o Ask for - BIeT
e Brake off - (SU% TeT; o Strike work- FTe@ 40
Ans : C.

The General met the junior officers of
Eid-ul-Fitr.
A. call on B. check on
C. count on D, get by

amteyt : « Count on - A1 2ew e Check on - TGIR i
e Get by - Brzef® e Call on - S/ 31

5ot : Abhor - i %1 |
Synonym : Hate, Disdain, Contempt, Detest, Abominate.

Antonym : Like, Choose, Opt.

1

| Ans : B.

I} Find the antonym of ‘dainty’-
A. tasty B. delicious
C. unpalatable D. palatable

il : Dainty — 3917 |

Synonym : Delicious, Savory, Sapid, Tasty, Palatable.
Antonym : Tasteless, Rancid, Unpalatable.

Ans : C.

Find the correct order of prepositions for the following

sentences (20-21):

Nelson Mandela was imprisoned __ nearly three

decades ___ his fight  white majority rule.
A. for, for, against B. about, against, for
C. at, about, on D. at, on, the

14T : o Imprisoned for nearly three decades - &7 &7
T Y0 PR fRee |

e Fight against white majority rule - cyo™ *Piea 2rta |

Ans : A.

m Valentina Tereshkova became interested

parachuting _ a young age and trained In
skydiving the local aero club.
A. of, at, in B. of, from, in
C. in, from, at D. in, at, from
A1t : Interested in - SR |
| ® Young age (4tF TS from T |
o A2 M TS at T |-
_Ans : C,

Find the incorrect word or phrase from the following

sentences (22-23):

Writers like William Shakespeare and Edger
Allen Poe are not only prolific but too

interesting.

A. writers B. like

C. are D. too
I Not only......... but also Z0 | SR S*FH (D) (© also T3 |
Ans : D,

It is most important that he speaks to the departmental
chairman before leaving for his vacation.

A. important B. speaks

C. leaving D. vacation

subject T *wSl verb 7 base form 7 | YOTS
subjunctive word 9t

Subjunctive word: Advise, Ask, Beg, Desire, Order,
Propose, Request, suggest, urge, insist, intend, wish,
important, vital, demand, require, recommend.

It TR special == WNg WvF 7" that R =0 9GI0 | |

Ans : A. e~ It is most important that he speak to the
Find the synonym of ‘abhor’- departmental chairman....
A. like B. detest Ans : B,
L C. love D. approve
— = i



Find the appropriate connector far the following
sentences (24-25):
Ambreen seems to be quite intelligent ;

often gets poor grades.
A. Whereas

C. Nonetheless
JTYT : # Where as - TFSE
e Moreover - Sf{3g

Ans: C.

- Majid has never been to the USA

| friends and relatives there.

A. in spite of B. moreover
C. beside D. None of the above

| i1 : @ In spite of/Despite - FTHS
Sentence 7 w4 wetE- ﬂmmﬁaﬁww GFITFFI
USA 3 -

she

B. Otherwise
D. None of the above

e Nonetheless - S95/%38
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DESCO- @7 <fa-
A. Dhaka Electric Supply Company
B. Dhaka Electric Service Company
C. Divisional Electric Service Company |
D. District Electric Service Company

It : « DESCO - Dhaka Electric Supply Company
Limited.
e BRDB - Bangladesh Rural Development Board.

e FBCCI - Federation of Bangladesh Chambers of
Commerce and Industry.

e BWDB - Bangladesh Water Development Board.
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PrYL : o1 (C) T 1 71 Cunsnnantﬁmwm l

Ans : C.
mmmﬁw-ruwﬁqﬁm *HoT FTACR-
A. B. 7518
C. ﬂﬁ-ﬁaw D. «3fy feym

Ans: C. - '

[EEN O3 90 GRE-

A. TR-2FTE TS B. ql-wfama wwe
C. ¢-5wa ol D. 3-wifen e

INL: AT T A, CTIRA S MR G
TEAST @ TXAET SR @A WE*1S MFrPHr= Tt B
wwwamwmﬂmﬁﬂmﬁmmﬁam
a5 I T @ e ﬂﬁmmmﬁaﬂﬁﬁ%’mu

Ans : B.

A. mmﬁww B. ofSq93 5% @9y oqw
C. o977 T67l D. 22t i 41

[N : AR AT e 3 Rl om QEH-TRER
ﬂﬁ'ﬁmﬁl .

Ans:

-iﬁmmmﬂﬁmﬁﬁr |
A. 7=l #4ifY B. ATS{G 3R 4
C. TS “AIEa IHL D. 7S s Tt

RN : AS- ﬁrmmm
Ans C.- :

AT 2:4,8: 6,16 7.26:75,
A.38:7.75 B.36:8  C.40:825 D.4285

JPRAT: 2:4- - B:6 -16:7 ..26:7.5 38:
6
2:4 " 8:6 16:7 26:75 |
2 =] 0.5 0.25
Ans : A.

38:7.75 |

What is the symbol of ‘since’ ?

A B. .. C.:: D.:

I : in mathematical term since

in mathematical term ﬂlEI'EfDI‘E: me:ans
Ans : A.

3 5% T @Fb?
A.

D?ﬁ'ﬁﬁﬁimmcﬂﬁmﬂ

I : T 93 40N TEEH | 9T SSIE TR

I @B = |
Ans :

D.

| Tt : A 3R, weetE, A, B, C, D, E, F, G, H.

If E is smaller than F, F is bigger than G, J is

smaller than E, H is bigger than J, and G is
equal to H, then which is the smallest.

A.E B.H C.O D.J
[t :
Small | Big
E—-F
G—-F
JoE->F
J—->H
G=H
J>HG—->E-HF
| J>E—->HG->SF
Ans:D.
BBV -20 o 87 WA “TareTS Tt Gl el T oS T
A. 22 B. 28 C. 16 D. 34

93, A@E@ - B,C,D,E,F,G,Ha3smd=7%
"~ B@T@—C,D,E,F,GH@E =60
(- A 9 9NY B @3 ¢4&1 S count T4 TATR) |
wageed, C @ — D, E, F,G, Ham sma=5%
"DERFR—SE,F,GHUI M =4
" FATR > G H@aame=2%
Gcﬂﬂm—-}Haamw—lﬁ

o =281
Ans : B.
(5“1 i we: 121, 144, 169,
A. 225 B. 196 C. 256 D. 179
et : (11)F = 121
(12)*= 144
(13)2=169
(14)* =196
Ang: B, !
B seemom {Cummunity)w’lﬁﬁﬂ@ﬂmﬂ TR~
A. sl C.7iggfs  D. T&rmenany
h’ﬁrm TS T farger SiTer
A.12 B. 11l C.13 D. 14
TG :
A
F E
9)
B C
AABC + AAEB + ABEC + AACF + ABCF + ABOF +
ABOC +AEOC + AAFE + AFOE + AFBE + AEFC = lzﬁ
Ans : A.




SR RifRves (B Unit)
€ : 2017-2018 [Set-3]

e e aawEf I oy
A. & TEreEd 3o B. 75 15
C. 3436y My D. *[asbH L=y

F-TH, ‘Ae9H9 S=E |
Ans : A,
‘SR SR AR ARy 720, P GRS P IR |
T i twma/sRer
A.7q B.afefEm  C.urpfe  D. feEm
JY : S B RaE o | ToeeR 79 R Erl
TG S I Q@ T 0 |

Ans: D.
BR et e wiees) R IR
A. ®ffeg B. ©IETSg
C. IToq D. sdeyg
01 : ET JIFACR W [Ew- |wiFey, 'I“T\b'ﬁ AT,
w{eg |
Ans : B.
mwwwcqnﬁwwmaﬁr
A. SGTAE B. 4RI
C. SYNAsE D. e5i9& -
T : AT IEID M0 ADF THE- o
G - LTS W-W T
M1 - *H TG - TRl L
TS - M fMeoifa™ - ﬁt@lwrﬁ'-m
=f% - S AW - TSl
T - GI QTF - @@l
Ans : B.

ﬂ 2@ ‘semicolon’ 5@ A 5 FHL?
A s B.omwmam C. yfemm
gt : e Semicolon - S4TERA (5)
e Comma - *Wt=n (,)
e Full stop 31 =few=w - ife (1)
e Quotation Marks 31 T&ad 5= Eﬁﬁtﬁﬁ‘ (" ")

wmqﬁﬁmﬁmﬁﬁﬁ?

D. JRrsTeEy

A o+ fo B. \fTﬂi+E

C. ez +° D. B3+ 1
w,mwmﬂ‘fﬁ”m
l‘ﬁjﬁ'ﬁ-lrﬁ"w l‘v'ﬂ'l+f'5¢ fice
.'\’7‘+W'W -'VLIIT+?E el
'\fﬂ"i-l-W"W -'¢Z’T+F@=%
VSR IR i Ry
o s 4+ - are o VB o - B
| Ans : B.

o | | Y

[ =¢|§ﬁmtﬂmmm- -9, g @, l I

Y ‘Frema’ Y RrEmal P IR Ay
A. TqOMTEIR FHYEY B. B Fh4iay
C. Bofite FyrEm D. &% YR
T : TOOTER FAYET AWM : (@ IAGAN FER - I |
AT’ Wamwﬁﬁmwwwwﬁ? |
FAYEY 5H 9 | o -
Q- S B 9 - T | -

- formt e WA - Prewd |
mwﬂaﬁmﬁcﬁmﬁ.w@ﬁﬂm
QWWWW’JW#%WW
Ans: A, . |
or A Rt
A. &9 B. SR
C. @Y D. 4Ft -
It mﬁﬂﬁi'ﬂﬂﬁw-ﬁﬁwmﬁﬁﬁ:l
WWWWWWWW

Ans :
mwm'ﬁ?ﬂimﬁr
A. RARA B. =44t
C. gt D. «itaifg

N+ T _ T, A, Wi, o, Sy, W,
wﬁﬁﬁa%ﬁ’mﬁfwﬂﬁﬁmwr -
l‘fﬁ ﬁﬂﬁ’fﬁ‘ﬁﬁ?@ﬁl A y 4
lmW WWW‘NI
Ans:B&C.. -~

S0, ﬁwﬁﬁm@mmﬁr
A. T3 B. W C. 3z D aaﬁt
TN o7 IO RAASIE 1w - S
W | RS W | W ﬁvrilwm
o[ | e a3ty | iy
b e | et | fowem

Ans :'D. e L ) S G AP ‘

Read the paragraph and answer the following
questions (11-15):

In the United States, presidential elections are held in years
evenly divisible by four (1884, 1900, 1964, etc.). Since
1840, American presidents elected in years ending with zero |
have died in office, with one exception. William H.
Harrison, the man who served the shartest term, died of
pneumonia only several weeks after his inauguration.

Abraham Lincoln was one of four presidents who were
assassinated. He was clected in 1860, and his untimely death
came just five years later. James A. Garfield, a former union |
army general from Ohio, was shot during first year in office
(1881) by a man to whom he wouldn’t give a job. While in
his second term of office (1901), William McKinley, another

e

[ miis———




Ohioan, attmded the Pan-American Exposition in Buffalo, .o Flgure out - f&et 7= |
New York. During the reception, he was assassinated while © Draw up - 318! =0

shaking hand with some of the guests. John F. Kennedy was e Get by - ﬁ;ﬁﬁ wﬁm'mﬂm ] "
assassinated In 1963 in Dallas only three years after his « Find out - e *ham | - '

?.}fﬁ;"' died in oﬁmﬂﬁmﬁgiﬂ llif”‘ w;,r-r ™ O | | Living cost 3% en g < s e "“"'EE'“""_ o
v ' > Proved, fany ﬁmﬁmmm;ﬂmﬁmgetbywu '

believe he was poisoned. Franklin D. Roosevelt was elected

four times (1932, 1936, 1940, and 194‘4), thﬂ- (Illy man to ASIP‘bElIEvEﬁ that he can L}Tﬂ fﬂ'r ﬂ'lEHS“pportc
serve so long a term. He had contracted polio in 1921 and A sheet anchor B. count on .
eventually died of illness in 1945 C. close in on D. draw up go
followi lecti — -
m illltggon owing were e eth.u:;I; g'gars except w Draw up - 9161 33%;_ Count ori.- & |
| C_IBSB D. 1884 Close in - T‘aram Sheet anchor - ﬂ'ﬁm ,
Wﬁ'IF nﬂa'%‘?tﬁ ﬁ?é! IS *ﬂtﬂ ¥
11 : AT sentence I WIE - evenly divisible by fnur ’ WIT mlppnrilt:itci:i;}flra o ask .
O 1930 91 T 7 4 W divisible, o s Bm'“c“ iR A
Ans:B. 5 b - “
‘ minable —
E ‘Which president served the shortest term in office? im;:{;::a;}{:unm “f ahu p]easant
- dam i W I;-EI:I arn;in '{I'M‘I ‘Abominable - & Exﬂcfahle 49 U, T
‘-m‘!tft r sentennﬂ qQ T Hie- amsn_n e Synenym | ;. Infernal; ‘Dartined; Dhnnxmus, Wicked,
man who served ....... after his maugu:atmn st Depravéd, Exeurable gl 1 e ,
Ans : D. = Saded o it 0 Antun}rm Favour Famnus ; G

All of the following presidents were assassinated AR AL ST et LT Sl

except — ' _ I8 Find the antunym nf ‘defend‘
A. John F. Kennedy B. Franklin D. Roosevelt A. assail | B. protect
C. Abraham Lincoln D. James A. Garfield C. shield D. resist
T : FECT QY] T 7R 08 ToTa N TN 1T : Defend - foTe 1, e ;-
Franklin D. Roosevelt ........ pulm in 1921 and - Assal - WWWW e
|| eventually died nfﬂlnessm 1945, - Fapages <y - Synnnym Reverberate, Stave, RﬂSIEt Rebuﬂ" Prnlecl‘
Ans : B. e, b 2 Antnnym Attack As'aall Oppress '
III The word ‘whom’ in line 14 refer to — S 8T Bt VR LR W
A. Garfield B. Garfield's assassin Find the correct order uf prepositions for the fuﬂmvmg
I C. A union army gEI‘lEI'ﬂl D. MCI{IHIE}F . sentences (zﬂ_z_r)
iyt : Passage @ 31 Wz- James A. Garfield, ....... by a Ml Kalpana Chawla was born _____ Karnal, India.
man to whom he wouldn’t give a job. 93 Wh”m W'ﬁ She joined NASA 1988 and was selected
James A. Garfield 43 w@wmml A her first flight in 1996.
|| Ans : B. ! A. for, about, on B. in, in, for
E How many presidents have died in office who were C. al, during, on D. after, during, on
elected in years ending with zero since 1840? I : 0 TG T e in I | S
A7 B.5 :-mﬁmml -
C.4 D.3 i mwﬁmmmfmwu
[ =05t : William H. Harrison ¢ Franklin D. Roosevelt| | [Ans:B.o = .
¥I%l 9% 5 Abraham Lincoln, James A. Garfield,| | jFll The definition ____ democracy was given ____
William McKinley, John F. Kenedy, Warren G. Abraham Lincoln at Gettysburg the USA.
Hardm'g -q3 5 o T4 1840, 1860, 1880, 1900, A. by, of, of B. of, by, in
1920 7= Gﬁﬁtﬁﬁﬁﬁgﬁﬂﬁﬂﬁtﬁwmwm| C. at, of, at D. on, in, to
Ans : B. i1 : e Definition MY preposition of AL
Find the appropriate idiom/phrase for the fﬂ”ﬂ"”"g o A1 W RS by T |
sentences (16-17): _ o A2 ot *Icff in 3T |
Despite the rising cost of living, we will __ on et 1

our parents’ salary.

A. find out B. draw up
C. figure out - D. get by




R T T T

Find the incorrect word or phrase from the following
sentences (22-23):

Visitors were not permitted entering the perk
after the because of lack of security and lighting.

A. visitors B. entering

C. permitted D. security
JMT : Permit @ @ AR to infinite 27| B} ‘EI‘*"T'H
(C) = to enter T |
Ans B.

[ You need both fine brown sugar as well as

powdered sugar to bake a Hawaiian cake.
A. both B. fine
C. as well as D. bake

YT : (RS both MR &2 as well as 1 7 and TF |
Ans: C. '

Find the appropriate connector for the ﬁlﬂawr‘ng
sentences (24-25):

He is a reckless motorcyclist; he hasn’t
had any accidents.
A. even so B. although
C. even as D Nnne {}f the abuve

gt : Althought - aws
ﬁmmﬁmwmmwmmﬁu

Ans B. .
AN His sister works three jobs in a day, she
doesn’t earn much.
A. however B. moreover
C. even as D. None of the above

I[P @Re ToF sentence Rade meanmg QFTF{ 'ﬁq’rﬁ,
l ©12 however (S, S3=)) I | .

Ans : A.
et A= >

D 2+4+6+8 .. qRIGA S n TRYF A7 B
2550 T n G2 T FO7
A. 60 B. 55
C. 50 D. 65

YT : @A, A Q1o 3T 9w, a =2
AYEIEEd, d=4-2=2

O, A YA n TRAF A e = %{2a+(n¥l)d}

n

" E{ZE +(n-=1)d} =2550

= 121-{2;(2)-;(11-1)2} =2550 =>n*+n-2550=0

l =>n’+5In-50n-2550=0

=>n(n+51)—50(n+51)=0 = m+51)(n-50)=0
. n=150,-51

Ans C.

m—ﬁm L S (lrratmn al) TRA?
] 7 31
. o= — : D. —
A J ; B 5 C. 9 5

T mwwm@mﬁwwww GT 3=
Rrefe T R | .

1) \/7 — , O i) Jo = 3, ‘i‘f‘l-ﬁ]‘l 111) — ‘EIITt'T |

Ans : B, .
E 70-80°rﬂwcﬁlﬁamm T 7
A. 223 B. 144 C.152  D.300 ‘

Tt - T‘faﬁanammw‘rﬁﬂﬂqﬁwﬂwnl
mﬂrﬁaﬂﬁffﬁtﬂnﬂm A

J_wﬁwafrﬁﬂﬁnl
?0 80 ~1fe ciifere swapef : 71,73, 79
qIE QT = Tl+73+’?9 223
-A‘ sy .4
A—-{012341mc-{1n 1, zs}wznm
AV C=397

A. {-1,0,1, 2,3} "B.{0,1,2,3} -
C. {-1, 4} D. {-1,0, 1,2, 3, 4)
WAuC-{01234}u{—10123}
. —{101234} Rt
AnsiDL B ok et |

H f(:ac)=:-{2 —4x+3TF f(- é—)-—iﬁ'ﬂﬁwr

AL 2 B p3
4 3 4 4

‘1]1‘4_!]'[ f(x) = x° -—4x+3 i

(——) (—¥) 4 (“’*3“1"2” e |

5o A i1420 221 i
Yok i
o3, W?ﬁﬁﬁmmwmww 1z=m

TR 1161 O TRz o
A. 712 B. 615 C.580 D.675

JIP1 ¢ 79 AT CFea, e, 1= npr. G YA S,
A= P+I=>A P+npr=:rA P(1+n1')

.
]

1161-—P(1+12x6%)z~ 1]61 P(1+12><: m)

=>1161 P(1+—)-_—>1161 B
100 100

[ Ans:D.

o3, o SeoR w;@mmtrmmwmﬁmm

fam | oo Semier 3o wet Ryt Frdt

A . W§F B, 93-58et C. @3F-2A4miet D, @353

At : B T A = 60 x %='2u’_

w,ﬁwﬁmﬁmﬁfﬂﬂx %:1"5-

- R B, e e wgm lw |

Ans: D. 1B

— .



|

e e S s 09

) i Rt A ¢ PrRIer st 2 : 3 7, Ot e

TS O R Wi
A. 20 B. 30 C.40 D. 50

T - TS, 47 ¢ PR A@TE =2+3=5
A%, 5 SIS A1 Wieg 2 wexf

2

S 1 SEATS "Eﬁm th(-j._

2x100 |

-, 100 =TS #4ifR Wiy —5—--;40 o

Ans : C. '
.ESOWWM4HWQWWW

iR I et 1200 35 7 3191l 3 fivm vewy
A 4 B.5 C.8 D. 10

JROT : AR IS g = 50 i,
ARHZ M9 &Y = 40 ¥,

‘. ARTTR AT CFags = 50 x 40 3 fi7. = 2000 3+ fa.
4f7, TR vewt x . _

.. TR AW s oy = (50 — 2x) .
1 I AN &Y = (40 - 2x) .
SRE, AR AR cFaw= = (50 — 2x) (40 —2x) 3. f.
9, (50 — 2x) (40 — 2x) = 1200
=> 2000 — 100x — 80x + 4x* = 1200

= 4x* — 180x +800=0
= x*—45x+200=0

= x* —40x — 5x + 200=0

= x(x—40) -5 (x—40)=0

= (x = 5) (x-40)=0

S X=35,40

[40 S=eTtst =7 et 21 AR 070 6 S ST S X0 A 1 |

Ans : B.

Ha of fmem smoret o 15 Rbm R s & s
iz Mol T @t 60° T fFies Bwet 31

1B)26;62-26+18

|t - 13%-1i=1.?5+-:'13=13.25~14‘.’.r5+42=3.5+42 |

A. Eﬁtﬁi B. ﬂﬁm
V3 J3
C. 3043 fitr D. 1543 fitw
T : 4, fEies Swet x f.
oIz, tan60“=% .
60°
= 3=f‘5-=:-x=15£ 15
Ans : D. :
1 1
. B. S C. = D. —
A 5 3
3 51 B 1
T : log, 3/5 = log; =5loes’ =3x1=5

Ans : D.

T 2 uw RER @ mur wwern gw RAW 3™ a6

AT 8 & ey Ramien n 18 | Ui 757
A. 18 B. 26
C. 32 D. 46

IOt : Option test :
A)18;81-18+18

C)32;23-32+18
D)46;64—-48= 18

Ans: D.
E 13%-14.75%2 =31 ,

B. 5— |

4
D. /169

A. 195

C 4* -3

=35+16=19.5
Ans : A,

T o «fwiw aftf i+ Sorw w0 1 T @M 7@ a3 |
AR e Turm ey 0.2 99 It W | grer o @rewdf
80T sr TE firy 68 7w 1 I A0 W T |
el H]
A. 20 B. 1
C. 10 D. 1

I[N : 47, X 5= S e | I

. vif5% B fore (80 — x) © -
Bz, (80 —x) - (0.2 x)=68 = 80 - x—0.2x = 68

=>80-12x=68=>-1.2x=-12=x= E

1.2

M OO

_12x10

=DX= =x=10

A

fom @t LACB @3 111 797
A, 30° B. 45°
C. 35° D. 40°
JIRYT : R B R TR SRIES Y M, (FHE (FIR 0T |
9, 5% 1 ZACB 93t 5% @14 ZADB 932 519
AB 3 T w3fEs |
1

~ZACB= = ZADB =

e

1
2( ) =45

Ans : B.




o S e || EYEE

018 (94)

IR &g

B o ofim e e Rl s

A. GTIoIR i B. smefy

C. Pafs IR s D. Srfmifa oo =irers
IR : o TEHGN I7 WRAMRPN G AZAGIH P AR |
° A 9990 9 f:: ol e e g 1 "

-Wﬁﬂrﬁﬁ,mﬁa mwﬂwmmmu
Ans A. |

| A% 9 Tl gy

A. fout-w@1-32f B. @3-Sl
C wﬁqﬁﬁww D. ﬁﬁﬁmmﬁ
wﬂfﬁmﬁﬁ—mwﬁrmmqm1
Ans : B. i .
l R D IR JBIga ety
A sF9E  B.smEE C AWk D. \Fda

YL : @ TR - Ty oS e (AT w=fyE) |
o SR - i 4fien @ (Frerds i) |
o TTPTIE - mmmﬁﬁawmmﬁﬁl

Ans : B. -
-Wﬂwwmwmﬁwﬁr

A. FITS B. SCafer
C. wiwd sitpst D. Soitaa Faef3
gt - Wﬁﬂmﬁmﬁqﬂﬁﬁﬁﬁmﬂﬂﬁ*ﬁ_
TR s o
Ans : C. :
Ja Aereem AR @R et ﬂT’iﬁ'ﬂ'ﬁl T
AR AR TR
A. &9 B. feeiy
C. v D. 74

eyt wﬁwﬁﬂ eIt Q@-Bqﬂ\wﬁmm e
wf‘wmﬁrﬂwm: .

Ans C. |
Suvcrmgntymwmﬁ W‘HWT

A. aftes B. s+

C. GANES D. & e T
I : ANEA T 1 e 30 -

-Wﬁl‘fw Wﬁﬁ‘f’@

o FIPTO! @ ATOING TH @ FEy A
Ans B.

ahqaﬂmsamﬁmwmmwﬁ
wmﬁor-mﬂf%ﬂﬁmr

A. STeofme SIRem B. mﬁmmwﬁ_l

C. 4.935.4%, IMFEWE D, B (F© W
| [t : o aferamsta STaSR 467 0 - So ¥ $5ab |

o e TR oI &R FE - 39 Gf&F 35 |
o ¥ afzel S ATABTET T - S T |

o AT ST MBS - 14 Tferga T | -
o eI FEPICER WZN/EoA-FB S - T o T |
Ans : D.

A & T 9o iRt Wi? |
A. GEmiTed TR B. (rIEIRreT I
C. CPISTITee TR D. pf&s s

T+ 7S AR UB T4 Il &P O (FF G |
mwmtwﬁwﬁmmﬂmﬁwwm|
Ans: C. . - - |

ﬁ'ﬁ'ﬂ cirt D Hese

Tt : @ TSIy SIS JIZA % Tiora TPt EA |

:*.ﬂuwmﬂﬂﬂﬁﬁmmﬁﬁﬁi
Ans : A. - .
MTﬁﬁﬁmﬁummmﬁm

A3 = B. 3% =

C. uoifiRiEs s D. Tt AR
[Nt +. 51 @ PR AR g3 1 R g 7 & Arerm
wﬁmmmmqﬁiﬂmmtmﬂﬁﬁmﬂﬂmn
Ans @A, _
. T TS o

A. RG354 SifEAl B. SAFITE WIN

C. (@R ui D.ﬂwﬁ%mﬁm
Ans: A, : s i

Wﬁﬁ%ﬁﬂﬁﬁiﬁ’m‘t? _

A. TE4 B. S

C. ==/ DRGSR

TR = BeAwTT 8T Beret T0R- —ﬁ 2, ‘{E’Iﬁﬂmﬂﬁ_ |
Ans't A,

Wﬁwwﬁmmmwwmm

A, 9T B. 53%

C. femem D BrEE
Ans.: A. . | ; |
s By mu‘fa e ﬁmw S SR TR

e z3- |

A. IBE TEF B. ATT 393

C. amﬁim D. ayF fereife ¢
Ans: A. .

Wmmmwmmﬂwmﬁﬂ
R WS AR S e tfen 237

A. TR B. y&@afis

C. wif¥ifeq D, {R®sfaa
T : GG I AR PRI TS BIS] GFE »o [
G A AT O ST <1few 2a T |
| Ans : D.
o I Tl e e e e —

A. = iR B. WM

C. = D. &y 45w sfiprg
TGt : @ AFMCH AGAS GOW ATW TP (SN
Fatezmaem |

o QE, 0 fier Rl =9 e 7= fdme
Afa51e1 I |

Ans: D.




|

Beeafe e R e || &

2017-2018 (95)

TR s ot fee- TR D TR WO TR I GO etz
A. TS 37 B. i A. a% B. v
C. RiFmm & D. &R I57g] C. = D. w5
Ans: C.
- [t : ‘{ﬁ{tﬂrﬂh
WO I Y FTIR W IAE TR, AW T \ 3 T@eqﬁmqmm
A. TR T B. SrereiEs e 2. vm(rr:a) ﬂTﬁTﬂ‘TﬂE TR, e
C. Sferamt Fmr D. 3 e . | oIl (S, vrrém T
Y : & AR TN oo IS Ay T7d Fw =W 8. | Frets (wifirz), ctereRres, :ﬁvr-(wnﬁms)
TR SIS SR 07 G W 1T | ¢. | Fees (SfE=iet), Fmee (SFs) |
Wﬂmm WWWWWWWQH?. b, | Hwers, SIS, ARTEINE, AEIATRD
camyrSt SEut AR A | q, | AR, 0TI, FIOH, A=, ARG
Ans : A, | - b, | T0TR, S, RARAZ, IR, e
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